] =

3 A4 Ls
g/ \—"1) —F:E
A IE E 1 Hi5F—L W TIME
25 |[TAH—ERIFAE 4’ 28”76
1 34 |F—LFH = 4’ 38”48
42 | EFMBTHESEUIGES =1 4’51763
46 |#kXet HEHEE 4’ 56”49
9 [ss|#@mm 5—rX4 @ 444725
21 | F—LE = 4’ 25”42
50 [ #EER1T RFEMZIE 5’ 04”84
3 19 | BmFMHF)—LR w" 4’ 20”42
11|hF 48k = 4’11797
36 | THIEEM 4’ 42”81
4 [2]5r—x & 334703
53 i8R F—LEUEY =1 5’ 09”66
20 [44- 455 4 4’ 22”35
b [s1|m=wEremEEL 5—X % 5 00780
51 |2 —ILFPHILNF—L =1 5’ 08”60
32 | EFMha5HIE 4’ 36”29
6 1|E nN—1)—5H57 ) 3’32789
13 [EE 38 )11 H R 68 & 4’ 13”97
31 |BERRA 4’ 36”06
] [mesiEs # 443700
9 | N—)—4H5T Jr B =5 4’ 03”62
48 | mFMERPTA 501”17
8 [B]z5uF & 33473
8 [T~ H~ =1 3’ 59”48
28| FEAHES FEE 4’ 31”35
O [z7]@ENSS Y & 430759
43| EEE =1 4’ 52”37
17 | EF P ERPTA 4’ 20”21
1 O 45 | EFH/INFERPTA ®" 4’ 56”37
44 | B B/INVER - 1 HBEPTA = 4’ 55”41
24 | F4—% 4’ 26”99
1 1 49 BRFMPFREXBR = 5° 04”70
15 | EFMBTEBISA =1 4’ 18”90
14 [th 11435 4’14797
12 6 |F—LBS = 3' 44735
5 |ILETEH# = 3’ 39”23
40 |+ #BRH B OKAYADOKARI 4’ 46”79
13 eermnenasezs #5005
4 |hA4avin—)—4557 =i 3’ 35”49
7 [BRE 3’ 48”81
14 [se|mzmmamzs # 534787
18 | KB = 4’ 20”40
10|EFMUMNLIVCIILARBES 4’ 04”47
1 5 16 |t £ 35 ) 4’19”77
23| FHSEHEEES =1 4’ 26”93
29 |(F)1E1h 4R 4’ 33”70
1 6 12| =51 AR = 4' 12”93
26 |4 B @ lzB =1 4’ 29”17
39 | IFRB T EHM 4’ 45”64
17 [ss]2n—u—557 o # 519729
54 |LL[R B =1 516”17
22 | EDOE 4’ 26”56
1 8 [ss|m=ws1a—ZmwC #4370
35 | EFMETELEEREMET—L|FT 4’ 41”10
1 9 30 |ETETEY & 4’ 34”23
A1 |)KETEFRSA =i 4’ 48726

Fft/N—1)—
RS IE IE HisF—L i TIME
4 |EFMHS/4A XA 5’ 28”48
20 [ =Fwr—sxoeHmR7—L8] 502740
6 |EFEMIMLIVCIILRA = 5 49”43
12[ARFELS B 742752
21 11 |EFMS144>XB & 7’01720
5 |hRRFELE = 5’ 39”91
3 [EFMILUX BE 5 28739
29 (o [@m y—R—5—=x #[ 615700
7 |EFMIMLIOIILAB = 5’ 54”40
10| EFMOEREIST BE| 624746
23 2 | LSADxRY B 511”95
8 |[BRFC = 5’ 54”59
THE/N—)—FF
RS IE Ef HisF—L i TIME
3 | Rtk 4’ 03”08
24 [s[ts—1715—5—& 2 657725
9_|SummerDragonTeam = 4’ 08”05
4 [A—FR7— BE 405702
25 6 |EVDIRUEH—ILKX ) 4’ 19”53
7 [ —LteHo—F—L = 6’ 42”30
1 [HAFr—XLT14—2R R 3756740
26 2 2= & s
s o R g (b= AV P A T)
A IE IE £ HisF—L i TIME
e 3’ 47”83
2] o]z n—1—557 s B #[ 406738
3 |E nN—Y—4H5T = 3’ 32”16
AL R 3733”53
28 1 [H+r—X B 331”71
6 |F—LIEE = 3’ 45”53
8 [T~ h~ BE| 3’55734
29 2 TSR B 3’ 32”15
5 |hqavn—1)—4H57 = 3’35746
o AN
A IE IE 4 HiSF— L W TIME
5 | HRBAE FOEREL
30 1 [PREEBER L] 4’ 23”49
4 | EXBAE =i 4’ 33”55
31 3 |ERBAS "] 4’ 32766
2 | mRBAE = 4’ 32”31
Z% R ik
RS IE IE{ HisF—L i TIME
1 [HA+r—XLTF1—R H 3’ 50”47
32 3 | RV ) 4’ 03”34
2 | RilEiE =i 4’01763
R it
A S IE Ef HisF—L i TIME
BE=PIS H 3’ 26”80
33 [ Fr=% #| 331780
2 | N—1)—=957 = 3’ 29”31




